VYAVILLARTEC Mopensb arperata: MR 1542M (TpakTop)

Rear Fender Assembly

MW336201

P

MW336201
Hood Assembly

A

>

MW336201
Deck Assembl

B




VILLARTEC

Mopenb arperaTta: MR 1542M (TpakTtop)

CHHucoK 3amacHbBIX YacTen

Ne I1o3. [ApTrukyJ geTaam HaumeHoBaHue KoJ-Bo
1 21035002050001B |Hecymas pama 1
2 21092001080001A [CoenunurenbHasi 1eTallb MpaBast 1
3 21092001070001A |CoequanTenpHas aeTajb JieBast 1
4 21033001440001A |Onopa neBast 1
5 21033001450001A |Onopa npaBast 1
6 2109200112A  [depxaTens pukcarymy TpaHCMHUCCUN 2
7 2109200115A  |OrpaHnuurenbHas WIaCTHHA IIKMBA NpaBast 1
8 2109200113A  |OrpannuurelibHasl WIACTHHA IIIKUBA CJIEBA 1
9 2109800256A  [IIpyxuHa peryiaupoBKH BbICOTHI 1
10 2106300299A  |bonr M8 1
11 2103300153A  [Peruar cromnopa pemHs 1
12 30913070185014 |bonr M8x20 27
13 30323040025014 |I"aiika M8 38
14 2103300149A | Tsra nepenHei mogBecKu 1
15 2103900028A  |bont M8x55 2
16 2109500010A  |Crynuia npaBas 1
17 3033305002  [T"atika M6 18
18 2109500009A  |Crymuia ieBast 1
19 2101900016A |Koneco nepennee B coope 15 2
20 2109300236B  |Illaii6a 42x19,5x1,5 9
21 3043301006  [CromnopHoe KOIbLO 6
22 2109100204A  |Kppiuika miacTukoBas 5
23 2269800006A  [3axxum 9
24 2103400005A  |Brynka nepeaHel moJiIBECKU 4
25 3131301002  (tynep 2
26 2103500208A  |baska nepemaHei KOHCOIU 1
27 2103300246A  |Ilepennsis KOHCONbHAS pacriopHas BTymka 12x20x40 1
28 3091303012  [bont M12x65 1
29 3031309012  [T"aiika M12 2
30 2103300150A |IIlaii6a 30x20x6 1
31 2103300151A  |[1nanka 1
32 20313000995014 |bont M8x50 1
33 2909900042  |Mexanndeckas KOpoOka riepeaad B coope 1
34 2101900017A  [Koneco 3agnee B coope 20 2
35 A26809007101 |IlInonka 4,7x4,7x70 2
36 2109500008A  |PemeHHOM HIKKB 1
37 2109200116A  |I1nanka 1
38 2109900153A  |boat 1
39 2109600036A  [bonr 1




VILLARTEQC Moaens arperara: MR 1542M (TpakTop)

40 2030100412A  |/IBuratess B coope LC1P61F8546¢¢/2800 1
41 2109900066A  [bont M8x25 4
42 2102500002A  |PemenHol MIKKB 1
43 2105300073A  |IIIaiiba 2
44 2103300152A  |bonr 1
45 |23033000485014A |bonr M6x16,8 9
46 2103900026A  |I'mymmrens 1
47 2109200109A  |Kppimika roymmrens 1
48 3091308005A  |bonar M6x16 35
49 A26800105502 [Camope3 ST5x16 26
50  121091001800001A [Konmauok 1
51 21091001790001A |Pynb 1
52 2106500016A |Ban 1
53 2109100210A  |ITomnmepxka 1
54 21032003830001A [Onopa st pukcaimu pyseBoro Kojieca 1
55 2109100226A |CuneHne ¢ pyseBOil onopoid 1
56 2109100207A  |3yOuaTas mwiacTUHa pyJeBOro MeXaHm3Ma 1
57 2426800001A  [IIpyxuHa 1
58 [21091002060001A |Tpurrep pysieBoro MexaHmma 1
59 2109300162A  |Tsra 1
60 2106300382A  |Ilmanka 1
61 2106300384A |bonr 1
62 30913070135000 |Boar M6 1
63 30313090035014 |I"aiika M6 29
64 2106300425A  |IIlaTyH mapoBoii rOJIOBKU PYJIEBOTO YIPABIICHUS 1
65 2106300374A  |IIpwkumHas IacTUHA PYJIEBOrO MEXaHM3Ma 1
66 2106300375A  |Brynka Basa 3y0uaTol IacTHHBI 1
67 2106500015A  |PyneBoii 3y04aThiii CEKTOP 1
68 2103300147A  |bonr M8x23 3
69 2106300376A  |l1aii0a 6
70 30913040165000 |boxr M10x35 1
71 21091001870001A |BepxHsist KpblIllika mpuOOpHON MaHeIH 1
72 2109300213A  |Kimou 3akuranus 1
73 H2108900237A |3amMoKk 3axuraHus 1
74 2108100080A  [KHomka nepeKIro4eHust 1
75 21091001890001A |TTpuboprasi maHesb 1
76 21091001910001A [CoequHuTenpHasT TaHEIb 1
77  121091001920001A [ITprbopHasi naHe b MOJ KPBIIIKOM 1
78 121091001940001A |Kopobka aist XpaneHus 1
79 121032003840001A [TTonmepkka TOImmBHOrO Oaka 1
80 [21032003850001A [TTognep:xka nprOOPHOI MaHe N 1
81 2106300395A  |Omnopa Tru ApOCCEIbHOM 3aCIOHKH 1
82  [21091001970001A |demmndupyrommii 610K IpocCeTbHOM 3aCIOHKU 1
83 2106300396A  |PykosiTka rasza 1




VILLARTEQC Morens arperara: MR 1542M (TpakTop)

84 121091001960001A |HabGanganHmk pyKosSTKY ra3a 1
85 30913070105000 |boxr M6x20 1
86 A26800706202 [Ymioruenne 18x12x0,5 5
87 2109300289A  |Illaii6a 18x6,5x1,5 1
88 2109300239A  (bontr M10x18,8 10
89 2109300237A  |bont M6x16 12
90 2106800879A | Tpoc raza 1
91 2109100161A  [BeHTWIALMOHHBIN KJaniaH TOIIMBHOIO Oaka 1
92 A26800104801 [Camope3 ST5x30 2
93 2109100203A | TommBHbIN Oak 1
94 2109100202A  [Kpsimika TormBHOro 6aka B cOope 1
95 2109600051A  |TormmBHas TpyOka 6,5x550MM 1
96 2109600050A | TorumBHas TpyOka 5x375Mm 1
97  [21091002090001A [Habanmanmuk pyKOSITKH CIETUICHUSI 1
98 2102500001A  |PykosiTka cueruieHus 1
99  121091001880001A [PrkcupoBaHHOE KpEIUICHUE PYKOSATKH CILICTUICHUS 2
100 2109800253A  |Bo3BparHasi mpy>K1rHa CLETUICHUS 1
101 2109800249A  |Ppruar 1
102 2103300279A | Tsra nepexinroyeHus niepeaay 1
103 2109500012A  |I1nanka peryara nepekyrOueHus nepeiad 1
104 [21091002050001A |IInacTvHa KperuieHus pblyara NepeKIioueHus nepeiady 1
105 2109300227A  [Beimykias mwiaTdopma 1
106 2109200114A |IlnactuHa 0J1s1 KpEIUICHUS] PyYKH 1
107 2109800263A  |IIpyxuHa peryara nepekoueHus nepeiayd 1
108 [21091002080001A |HabangamHuk pyKoITKu 2
109 2109300228A  [Pwiuar nepeximodeHus niepeiay 1
110 2103500206A  [ITanenb HATSIKHBIX IKMBOB 1
111 2109100193A  |3aaHuii LIKUB peMHS 1
112 2109100190A  [HaTspxHOM MIKKUB 1
113 2102300201A |Ilaiiba 1
114 3091304012  [bonr M10x30 1
115 30313090085014 |I"aiika M10 20
116 2109800260A  |IIpymnHa naHe M HATSIKHBIX IIKMBOB 1
117 2106300388A  [PwIuar perynmpoBKHM BbICOTHI CTPHKKU 1
118 2106800736A  |IIpyxHHa peryJIMpOBKU BHICOTHI 1
119 2103300241A [IInacTuHa peryiaMpoBKa BbICOTHI CKalllMBAHUS 1
120 2109300217A  |bont M12x20x45 1
121 2103300240A  [Psluar peryimpoBKa BHICOTHI CKallIMBAHUS 1
122 2103300239A  |Ppruar BeICOTHI CKallIMBaHWsI NPaBbIN 1
123 2103300238A  |Ppryar BeICOTHI CKAIIMBAHMS JICBBIN 1
124 2109500013A  |Ban peryimpoBKa BbICOTHI CKaIllMBAHUS 1
125 2109300215A | ®ukcupyronias iacThHa BaJl PETYJIMPOBKA BHICOTHI CKAIIMBAHUS 2
126 2106300387A |Omnopa peryinmpoBKH BbICOTHI CKAallIMBAHWSI IpaBast 1
127 2103300237A  |Omnopa peryaupoBKHU BBICOThI CKAIIMBAHMS JIE€Bas 1




VILLARTEQC Moaens arperara: MR 1542M (TpakTtop)

128 2103900029A  |CoeaunurenbHslii 070K ¢ T-00pa3HoOi rOIOBKOM 1
129  [21091001860001A |IInacTrkoBasi mpocTaBKa 2
130 2109300224A  |Brynka nepanu rasza 25x1,5 1
131 2106300391A  |®ukcupyronias IwiacTHHA KPEIUICHUs Te1ajIu raza 1
132 2106500018A  |Ppruar meganu TopMo3a 1
133 [21091001950001 A |Brynka neani TopMo3a 1
134 2109300225A | Tsra peruara Topmosa 1
135 2109800267A  |IIpyxuHa Tru TOpMoO3a 1
136 2109300229A  [HaTspKHOM CTEpKEHb 1
137 2109900221A [Boaurenbckoe cuieHbe B cOope 1
138 |21093001580001A |ITon1oH cuneHss 1
139 |21093001590001A |Omnopa cuieHbst npaBast 1
140 | 22892000020001A |Omnopa cueHbst JieBast 1
141 2109300240A  |bont M8x26x13,8 2
142 3022301013  |Buar M8x20 4
143 2103300148A  |Jlep:kaTesib akKyMYJITOPHOM OaTapen 2
144 2103200434A |Cronop akKyMyJsITOpHOM OaTtapen 1
145 2109800239A  |IIpyxuHa cuneHbs 2
146 |21092001170001A |®Prkcupyromas mwiacTHHa 1
147 121092001110353A |Kopnyc cunenss 1
148 |21091002140001A |Kpplmka peryasiTopa BBICOTHI CKaIIMBAHKS 1
149 121091002130001A |KppIika nepekimoyeHus nepeaay 1
150 21091002010001A |Kypoxk 1
151 H2288900002A |Ilepexmouares xona 3
152 |21091002000001A |Kopobka 115 pukcaimu CIyCKOBOro Kproyka 1
153 [21091002120001A |ITonknanka Ajst HOT'W PaBbIid 1
154 [21091002110001A |TTogknagka Iy HOTH JIE€BBII 1
155 2109800266A  [IIpyxuHa 1
156 2109300161A  |IIaiiba 25x5x2 1
157 2103900024A  |IIIait0a 3a>kUMHAsi PEMEHHOTO IIIKHUBA 2
158 2105900005A  |KpoHIITeilH TOpMO3HOM KOJIOJKH MPaBbIi 1
159 2103300157A  |KpoHuITeH KpeIieHusl IKUBOB NPaBbIN 1
160 2103400007A  |BTynka KpOHIITEMHA PaBOTro 1
161 2103300161A  |II1aiiba 5
162 2103800032A  |IIpyxuHa 1
163 30913030045000 |boar 10x45 3
164 2103900023A  [PemeHHOM IIKUB 2
165 2103400008A |HatskHas BTynka neBas |
166 2103300154A  |OrpaHnuuTels peMHsl JIeBbIN 1
167 121039000250001 A |3amurHbli KPOHIITENWH PEMEHHOTO IIIKMBA JIEBOT'O 2
168 2109300156A  |Onopa peMEeHHOro IIK1Ba 2
169 21091001990001 |3ammrHas KpbllKa ¢ IpaBoro OOka 1
170 2103900033A  |®DukcupoBaHHBIM Bajl 1
171 2103800033A  |IIpyxuHa 1




VILLARTEQC Morens arperata: MR 1542M (TpakTop)

172 2103300159A  |®DukcupoBaHHasl IIACTUHA 3ALUTHOM KPBIIIKK C MPaBOro OOka 1
173 2109300195A  |bont M10 2
174 {21091001980001A |Koneco KOCWIbHOM JeKU 2
175 2103300160A |Tara nexu 1
176 2103300156A  (IInactuHa 1
177 2109600037A  |Pemenb kMHOBOM 2362MM 1
178 2105900004A | KpoHiTeitH TOpMO3HOM KOJOAKH JIEBBIN 1
179 2103400006A  |BTynka KpoHIITEWHA TOPMO3HOM KOJIOIKHU JICBBII 1
180 2103800031A  |IIpyxuHa JIeBOrO KPOHIITEHA |
181 [21035002100001A |KocunpHas nexa 1
182 2105200368A |[Hox 536,7mm 2
183 2103900030A  |CoeauHUTEIbHBIN phIyar 1
184 2103900031A [II1aiiba 1
185 30313070015014 |T"aiika M12 1
186 2109100224A |®apa neBas 1
187 2109100225A  |®apa npaBas 1
188 |21091001835017A |CBeTOBOE OTpa’keHHE CrpaBa 1
189 [21091001822017A |CBeTOBOE OTpakeHUE ClICBa 1
190 2108900234A  [Jlammouka 12V 2
191 2108900298A  |CoenuauTenbHBIN Kabeb ¢ maTpoHaMu s Jami S00Mm 1
192 |21091001840001A |Omnopa daps! eBoit 1
193 [21091001850001A |Omnopa aps! ipaBoit 1
194 121041011970001A |Jlororun 1
195 |21091002230001A |Haknaagka Ha niepeaHuii 6aM1iep 1
196 |21091002150001A |Kanor nBuraTens, ieBasi O0KoBas 4acTh 1
197 121091002160001A |Kanot nBurarens, npaBas OOKOBas 4acTh 1
198 |21091002200353A |KpbL0 s1eBoe 1
199 [21091002210353A |Kpbiio npaBoe 1
200 121091002190001A |Konb1io BO3AYyLIHON TPYOKH 1
201 |21041011960001A |TTognepxka Kanora Bo31yx03a00pHHKa 1
202 [21091002170001A |Kppika kanora 1
203 3011305002  |Camope3 ST6,3x19 32
204 | 23093000195000 |3axxum 5
205 2108900236A |Pene 200A 1
206 30913060025014 |Boar M8x60 4
207 3082304006 |Cromop 1
208 2109300214A |IInacTuHa KperuieHus neJaii TOpMo3a 1
209 2102300202A  |Brynka ocu kosieca 3aJIHETO 2
210 A26800503302 |T"aiika M5 1
211 3021302018  [Buar M5x12 1
212 2108900299A  (IlonoxurensHbli HYp muranus 400Mm 1
213 2108900304A  |OTpuniatenbHbii mHyp raranus 400Mm 1
214 2108900233A |AkkymynsaTtopHas Oarapes 12B, 15Ah 1
215 2108900300A [Kabenn B cOope 1




VILLARTEQC Moaens arperara: MR 1542M (TpakTtop)

216 2108900303A [Kabesn 3a3emieHus 1
217 2013900143  [3axum 5x400 6
218 2103100497A  |3axum 5x150 8
219 3042301012 CromnopHoe KoJjbIIo Basia 16 1
220 2102300203A  |T'aiika 1
221 3051301002  |IIlaii6a 24x13,5x2,5 2
222 30512050045000 [[laiica 4
223 2109300234A |bont M8 2
224 | 30913070225014 |boar M8x25 1
225 30913040175014 |bonr M10x40 2
226 A26800623601 |bontr M8x16 1
227 A26800900101 [IIIaii0a 1
228 30913070035014 |bonr M6x35 1
229 2032400001A |Brynka Bana 3y04aTO Iu1acTHHBI 1
230 121091002290001A |OrpannaurennsHbli 6710k 6aTapen 1
231 3031309010  [T"aiika M8 3
232 2109300243A  (Buar 2
233 2109900154A  [3akuM TOIUIMBHOrO NUIAHTA 2
234 2108900346A |Kabenp noakimroueHHs CUICHbS 1
235 2109800275A  |3axum 2
236 2109300242A  |Bunr 1
237 2102200018A  [I1aiiba 30x8x2 1
238 2103900036A | YmiorHeHue 2
239 2013900164  [3axum 4x250 1
240 2101300242A  |PemeHHOM MIKKB npaBblii ¢ nopmvnHukoM 6203-2RS 1
241 2109300265A  |Illaiiba 75x10,2x4 2
242 2103100538A  |IIpyxunHasi aHTU(PUKIMOHHAS BTYIIKA 1
243 2102400016A | ®pukimonssiii 010k 35x13x10 2
244 2106300386A  |Onopnas racTvHa 1
245 2109800284A  |IIpyxuHa BO3BpaTa TOpMO3a |
246 3052301002  [IIIaii0a 1
247 2103300290A  |CTonopHOE KOJIBLIO |
248 123033000485000A |Bont M6x16,8 2
249 3049301002 TToamMIMHUKOBBIN 3aKHUM 6
250 [21031005870001A |3ammrHas KpblKa peMHs paBas 1
251 2103200497A  |bont M6x12 6
252 2103200500A  |®ukcupyromas IacTHHa JeBas 2
253 | 21031005860001A |3anmrnas KpblllIka peMHs JIeBas 1
254 121031005850001A |3ammrHasi KpbllIKa OMOPbI HOXKA NpaBast 1
255 121031005840001A |3ammrHas KpbllKa ONOpbl HOXKA JIeBast 1
256 3043301003A |Illait6a 1
257 2103200499A  |bnokupoBKa (PUKCUPOBAHHOIO BaJja 1
258 2103800056A  |biokupoBouHas MpyKUHA 1
259 2103200529A | BaoKupOBOYHBIHN OJIOK 1




YA VILLARTEQC Moaens arperata: MR 1542M (TpakTop)

260 2109900067A  |bonr M8x17

261 2103200528A  (IInactuHa




